The diagram shows how an immature egg could be used either to produce cells
to treat some human diseases or to produce a baby.

SO Cells used

Blagtocyst —a %OO 1o treat some

Immature gmll.lgooi’ ai’?out (>~ human diseases
egg extracted iy

from ovary 2
5 O-
Egg treated \‘ Blastocyst could be
chemically so : implanted into the
that it starts mother's womb.
to divide She would later

give birth

Scientists may be allowed to use this technique to produce cells to treat some
human diseases, but not to produce babies.

Using information from the diagram, suggest an explanation for this.
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